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~ Trigonometry workbook Answers ~

Trig Functions Unit:

Degree Measure
Page:
pos: neg:
A-1 A 30° -330°
B 45° -315°
c 60° -300°
D 120° -240°
E 135° -225°
F 150° -210°
G 210° -150°
H 225° -135°
I 240° -120°
J 270° -90°
K 300° -60°
L 315° -45°
M 330° -30°
1) 1/12, A
2) 1/8,8
3) 3/8,E
4) 1/3,D
5) 5/12, F
6) 7/12,6
7) 2/3,T
8) 5/8,H
9) 3/4,7
10) 5/6, K
11) 7/8,L
12) 11/12, M
13) 7/8,L
14) 1/6,¢C
15) 3/8,E
16) 5/12,F
17) J
18) DEF
Page:

A-2

N 0 <,

21) 4': 22) S|—

23) "=|_

24) '>|__

Yy

25) {40°, -320%
26) {150°, -210°} 'H__
27)  30°,330°)  —f<,
Page:
A-3  28) {-45°, 315°) —|§-
29) {405°, 45°, -315°, -675°) IL
30) {440°, 80°, -280°, -640°} —|L
31) {-255°, 105°, 465°) q_
32) {-340°, 20°,380°) 1=
33) {675°, 315° -45°, -405°, -765°)
34) 56° 22' 48"
35) 82.50°
36) 120° 55' 00" or 120° 55' 48"
37) 18.10°
38) 345° 39' 00"
39) 3.96°
Page:
A-4  40) c 41) B
42) F 43) AC
44) B 45) F
46) B 47) E
48) A 49) 180
50) clockwise
51) vertex; positive x-axis
52) 360  53) 60; 3600



Page:
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Radian Measure

A-5

A-6

2)
4)
6)
8)
10)
12)
14)
16)

18)
20)
22)
24)
26)
28)

30)
32)
34)

2n /3 3) T /6
T /4 5 /3
Ly 7 %/
3% /4 9) =
7n /6 11) 5n /4
4n /3 13) 3n /2
5 /3 15) "™ /4
ux /e 17) 0,2n
72° 19) -60°
-135° 21) 480°
405° 23) b40°
-720° 25) 630°
315° 27) 210°
105° 29) 84°
135° 31) 194° 48
540° 33) 120°19'
270° 35) -108° 51

Arc Length / Sector Area

Page:

A-7

1))
2)
3)
4)
5)
6)

3.6 ft or 113 ft
10% c¢cm or 314 cm

2T/ m or 1357 m
%0%/3 km or 52.4 km
24t m or 754 m

7%, yd or 58.9yd

Page:

A-7

A-8

A-9

7)
8)
9)
10)

11)
13)

15)
16)

17)

18)

19)
20)

21)

22)

360/5 in or 114.6 in
4320/, mm or 1375.1 mm
800/, m or 2546 m
1440/ km or 458.4 km

143° 12) 143.2°
3782° 14) 4775°

229 in
15,357 mi.

66,659 mi.
1007 /5 in? or 104.7 in2

600 cm? or 1,885.0 cm®
4375% 1,4 yds? or 572.7 yds?

104007 /5 £42 op 10,890.9 f12

A) A=0.29 mi
B) r~0.65mi
0) 0=~229.2°

Trig. Ratios / Definitions of Trig. Functions

A-11

1
2)
3)
4)
5)
6)
7)
8)

9
10)

1)
12)
13)
14)

sinf  cos® tand Q

415 35 43 I
35 45 34 I
T)os 25 /s 1D
By g By 1V
V3 2 45 V3 I
Yoo By B
25,5 5 2 I

2\129/29 -5*/29/29 -2/5 IT

10, ey, 15, I
285y, N34y, V30, TIT

- st -
5 - % -
151 817 s e
213 W -
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13)
15)
17)
19)
21)

22)
24)

25)
26)
27)
28)
29)
30)
31)
32)
33)
34)
35)
36)

37)
39)
41)
43)
45)

0.3523
0.1409
0.8087
6.1654
0.4713

0.7509
16.4281

deg.
24°
24°
89°
41°

38°
41°

89°

14)
16)
18)
20)

23)

rad.
0.42
0.42
155
072
0.66
072
1.55
1.55
0.09
0.09
0.09
0.42

38)
40)
42)
44)

0.6058
0.2482
0.4794
0.9490

0.9969

a®GIm

Finding Angles from Given Trig. Values

Page: Page:
A-12  15) I, III A-16
16) IIT, IV
17) I,III
18) I,Iv
19) I,IT
20) I, IV
21) 22)
A-17
23) v 24) IT
25) II 26) IT
27) III 28) IIT
Function Values of Special Angles
Page:
A-13 1) V2+6 2) 2-ve
4 4
A-14 3) -1/2 4 1
5) v3 /2 6) N3 /2
7 % g8 o0
9) undefined 10) undefined
A-15  11) 60° ; /3
12) 60° ; T /3 Page:
13) o° : 0 P
14) 90° g T /2
15) 45° ; T /4
16) 90°, 270% /2,3 /2
17) 30° ; T /6
18) 60° /3
19) 45° T /4
20) 60° /3
21) ¢ 22) d
23) a 24) “none”
25) b,e
A-16 1) 09465 2) 0.8403
3) 2.8239 4) 09954
5) 2.3750 6) 03638
7) 09621 8) 07214
9) 01736 10) 0.3706
11) 0.4436 12) 30178

1)
2)
3)
4)
5)
6)
7)
8)
9)
10)

11)
13)
15)

26.5°

33.33°
33.67°
64.50°
70.34°
71.50°
28.84°
61.16°

65.73°
16.67°

0.39
0.30
0.72

or
or
or
or
or
or
or
or
or
or

12)
14)
16)

26° 30
33°20
33° 40
64° 30’
70° 20
71° 30’
28° 50
61° 10

65° 44’
16° 40’

1.25
154
0.99



Page:
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Finding Angles from Given Trig. Values

A-19

17)
18)

19)
20)

21)
22)
23)

24)
25)
26)

27)
29)
31)

30°
90°
270°
45°
60°
45°
oo
00
180°
60°
60°
90°

o Q

or
or
or
or
or

or
or
or
or

or
or

or
28)

30)
32)

T /e
7[/2
3n
T /a
1[/3
LA

15/3
"/3
‘l'l?/2

Circle Trig

Reference Angles

Page:

c-1
1) 50° 2) 80° 3) 20° 4) 10°
5) 70° 6) 50° 7) 25° 8) 80°
9) 2° 10)79° 11)85° 12)75°
13)20° 14)80° 15)50°

c-2

16) 55° 17)50° 18)40° 19) 60°
20)45° 21)30° 22)" /3 23)" /4
24)" /e 25)™ /3 26)" /4 27)" /6
28) %" /729)™ /g 30)0.67

6raphs of sin(x) and cos(x)

Page:

Cc-3 Part A:

1) and 2) > donein class

3) sinusoidal

1) they all equal /3 or 20866

2) periodic; 2

3) example: tides, sound waves, light
waves, lunar cycle, solar cycle, piston
position in a car engine, etc.
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Page: Page:
c-4 Part B: c-8 a: b: c
) AC/2,-1)  B(m,0) ¢(3%/2-1)
(%2, 1)  E@ERO) ) & 6 T
17) Y3 3 6
2) A(-3m,0) B(™2,-1) ¢(3"/2,0) 18) 2 7 2ny,
D(0, 0) E(7,0) 19) 8 2n 1
200 3% 2 n
3) A(™/2,-1)  B(m,-) C(3"/2,0) 2y S i 7
D( 2w, 1) E(3n.-1) 22) 2n T 2
23) 3 6m 3
4) ACT/2,0)  B(-2m. 1) C(-mA) 24y 18 Y5 5
D("/2,0) E(m, -1) 25) Ys 4n 3
26) 5 “he  Fq
c-5 x-intercepts are located at: 27) 4 713 sy
5) -m, 0,7, 2%, and 37 c-9
6) -5m, -4m,-37,-27,-1, and O 28) 3n 7y 10my,
7 2,2, /2,%/2,and 3/2 29) 8 2n 1
8) %2, "5%15,3%5 15 %15, and 372 30) 3 én 3
3 4 3 2% /3
6raphs of A sin Bx and A cos Bx :i; :;2 :th :/16
Page: 34) 18 &y T
33B) 3 2n 1
c-6 2 b: & 36) 1 440 Y220
5 3 on 37) 16 Ttys Oy
2) 2 6 LR 38) 2 64 /32
3) 3 v, 39) 18 %7 Tn
7 40) 2 /3 6
€-10
4 5 7 2ty 5) graph starts at the origin and goes up
5) 3 2 T to 3, down through ™/2 and ends at 7.
6) i 8 10) graph starts at the origin and goes
7 3 2 L down to -2, up through T/4 and ends
8) 4 10 /s ot "/,
9) 5 WE 15) graph starts at the origin and goes up
10) 2 Tfa to 8, down through "/1¢ and ends at
11) 3 T 2 /e,
12) 1 60 /30 20) graph starts at (0, 3/2 ) and goes up
13) 1 5 2%/ through the x-axis at ™/4 ; it ends
14) 5 % 4n at(m-1).
15) 8 16 g 25) graph starts at the origin and goes up

to 1/5, down through % and ends at .

30) graph starts at the origin and goes
down to /3, up through 1/6 and ends
at /3.
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c-11 D-3
35) graph startsat (O, 3/, ) and goes
down through the x-axis at Ya: it

endsat (1,%/2)
40) graph starts at (0, 2) and goes down

through the x-axis at 3/2; it ends at
(6.2)

Biorhythms

Page: D-4

C-15  All of this is done in class

Identies
Basic Identities
Page:
D-1
1) 2 sin(x) - 2 sin(x) cos(x)
2) sec(x) - tan®(x)
3) tan?(x) - 2 sec(x) tan(x) + sec?(x)
4) sec?(x)- 1
5) sin3(x) + sin®(x) cos(x)
6) [sin(x) - cos(x)1lsin(x) + cos(x)]
7) sec?(x)[ 1 + tan?()]
8) cos(x)[ sin?(x) + cos?(x)]
9) [cos(x) - sin(x)][cos(x) + sin(x)]
10) sin®(x)[ 1 - cos?(x)]
D-2
11) cot?(x) + tan?(x)
tan(x) cot(x)

12) 1 - tan?(x) + sec?(x)
sec(x)[ 1+ tan(x)]

13) tan(x) - sec(x)

sec(x)

14) cos?(x) - [ 1 - sin®(3)]
[ 1- sin(x)] cos(x)

15) sec?(x) - Tan(x) cot(x)
tan(x) sec(x)

16)

17)

18)

19)

= cos?(x)[ 1 - sin®(x)]
= cos®(x)[ cos?(x)]
= cos*(x); QE.D.

[1- sin®()] - sin®(x) =
1 - sin?(x) - sin®(x) =
1-2sin¥(x)=; QE.D.

[sin?()] sin*0)T? =

1=; QED.

sin(x) + 1
cos(x) cos(x)

sin(x)+1 =
cos(x)

[ms(.r))sin(x) 1 _

cos(x) ) cos(x)

cos(x)[sin(x) + 1] =
cosz(x)

cos{x)[sin(x) + 1]

1 - sin®(x)

cos(x)[sinbe-+1] =

[de-sinp][1 - sin(x)]

cos(x) £ Q.E.D.
1-sin(x)
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20)

1 + cos(x)
sin(x) sin(x)

1

1+ cos(x)
sin(x)

sin(x)
1+ cos(x)

sin(x) (1—cos(x) )
I+cos(x) k 1—cos(x)

sin(x)[ 1 - ecos(x)]
1- cosz(x)

5inba [ 1 - cos(x)]
sine(x)

1- cos(x)

sin(x)
1 cos(x)
sin(x)  sin(x)

cse(x)-cot(x); QED.
21)
2
1- 1—cos™(x)

1+cos(x)

| _ BreesealiL-cos(x)]

—osaid)

1-[1-cos(x)]
1-1+cos(x)

cos(x) ; Q.E.D.

Page:

D-5

22)

[sin(x})[ 1 J[ 1 —sin(x))
cos(x) A cos(x) A sin(x)

(sin{x] 1 _Sin(x))
cos’ (x) A sin(x)

1 sin’(x)
cos’(x) cos*(x)

secz(x) - fanz(x)

1 : QE.D.

23)
(cos(x)) [1+sin(x)]

cos(x) ] cos(x)

cos(x)[1 + sin(x)]
1-sin?(x)

cos(x)[-++sinbo)]
[ 1- sin(x)][-++9inG]

cos(x)
1 - sin(x) Q.E.D.

1
24)

sin(x) + cos(x)
cos(x) sin(x)

1

sin® (x) + cos?(x)
sin{x) cos(x)

sin(x) cos(x)
sinz(x) + cosz(x)

sin(x) cos(x)
1

sin(x) cos(x) : Q.E.D.
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Negative Angle Identities

Page:
D-6
1) -1an20° + sec20°
2) -cos("/12)tan("/12)
3) sin15° cot15°
4) ¢0s10° + sin10°
5) -cot(™/3) + tan(2"/3)
6) LLEY / tan(x)
7 ~cos(x) / tan(x)
8) cosz(5) - sin¥(5)
9) tan? (3) - sec? (3)
10) sec? (1) + csc? (1)
D-7
11) -1-+2 /2
12) -2
13) - 443 /3
14) 18y,
15) 34243/,
16) TV2+2,,
D-8
17)d 18)f 19a 20)g
2D b 22) ¢ 23) e

Cosine of a Sum or Difference

Page:
b-9
1) V6 + 2 /4
3) V6 -2 /3
4) ‘/6 + \/2 / 4
5) V2 + 6 /4
D-10
6) "\I6 . \12 / 4
7) 2/, [cos(x) + sin(x)]
8) "2/2 [cos(x) + sin(x)]
9) -sin(x)
10) sin(x)
11) % [V3cos(x) - sin(x)]
12) £ [cos(x) + v 3sin(x)}
D-11
13) cos(5x)
14) 12 15) %
16) cos(2x) 17) O

Page:

D-12
18)

19)

20)

21)

D-13
22)

23)

24)

c0s90° cos@ - 5in90° sind =
(0)cosO - (1)sin@ =

0-sind =

-sind =

QE.D.

c0s180° cosO - sin180° sinb =
(-1)cosB - (0)sin =
-cosD-0 =
-cosO =
Q.E.D.

c0s360° cosO + sin360° sind
(1)cosO + (0)sind
cosO +0

cos6
Q.E.D.

cos(x)cos(y) - sin(x)sin(y)
+ cos(x)cos(y) + sin(x)sin(y) =

cos(x)cos(y) + cos(x)cos(y) =
2cos(x)cos(y) =

QE.D.

cos(x)cos(y) - sin(x)sin(y)
- [cos(x)cos(y) + sin(x)sin(y)] =

cos(x)cos(y) - sin(x)sin(y)
- cos(x)cos)y) - sin(x)sin(y) =

- sin(x)sin(y) - sin(x)sin(y) =
-2sin(x)sin(y) =
QE.D.

cos(0+0) =
cosOcosO - sinOsind =
cos?0 - sin°0 =
QE.D.

steps from above, then ..
0520 - [1 -cos?6] =
050 - 1+c0s%0 =
2cos?0-1 =

QED.
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Sine of a Sum or Difference

Page: Page:
D-14 D-17
1) cos 20° 2) sin 55° 1)
3) tan 28° 4) cot 75° 2)
5) sec 10° 6) csc 52° 3)
7) cos(3/g) 8) tan(**/14) 4
5
9) sin(45°-x)  10) tan(135° - x) 6)
11) -cot(x) 12) -csc(180° + x) )
D-15 7
) D-18
13) x =50° 14) x = 15° 8)
15) x=78° 16) x = 65° 9)
17) x=3"/g 18) x = 80° 10)
19) x = 30° 20) x=10°
21) x=25° 11)
D-16
22) ¢ot[90° - (90° + x)] =
cot (90°-90° - x) =
cot(-x) =
-cot(x) =
QE.D.
23) $in[90° - (45° + X)] =
Sin(90° - 45° - x) =
sin(45° + x) =
sin(x + 45°) = D-19
Q.E.D. 12)
24) $in[90° - (90° - x)] sec[90° -
(90°-x)] =
sin(x) sec(x) =
sin(x) ( 1y cos(x) ) =
tan(x) = 13)
Q.E.D.
25) cos[90° - (90° - x)] sec(x) =
cos(x) sec(x) =
cos(x) cos(x)! =
1=
QE.D.
14)

N6 - 2 /a
V2-46 4 "
62 s
N6 -2 /4
Y245 [eos(x) - sin(x)]

172 [sin(x) + cos(x)]
-cosx

-sin(x)
V3 /2
sin(2y)

sinB cos60 - cosO sin60
+ ¢0s0 cos30 + sinO sin30 =

3 sin@ - (3/2)cos0
+ (3/2)cos0 + 4 sind

1 sinO + % sin®

sind
Q.E.D.

sin(x)cos(y) + cos(x)sin(y)
+ sin(x)cos(y) ~ cos(x)sin(y) =

sin(x)cos(y) + sin(x)cos(y) =
2 sin{x)cos(y) =

QE.D.

sin(x)cos210° + cos(x)sin210°

sin(x)sin(-120°)
+ cos(x)cos(-120°)

= -sin(x)sin120° + cos(x)cos120°
= cos(x)cos120° - sin(x)sin120°
= cos(x + 120°)

QE.D.

sin(x +x) =

sin(x)cos(x) + cos(x)sin(x) =
sin(x)cos(x) + sin(x)cos(x) =
2 sin(x)cos(x) =

Q.E.D.



